WA (x- 1) - x-2) = 09] BE 29| §L FotH?

D 5 ® 4 3 3 @ 2 B 1



2. AP x4 3 - Ta? - x4+ 6 =02 T FOA Hoo] 27

D -2 ® -1 3 0 @ 6 B 2



@) y=x-2%+y=-3x-1
@ y=2x-2F+=y=-6x-2
@ y=3x-3FE=y=x+1

® y=4x-4Fy=5x+3

x? = 2x + 20 Hsh= A4



4.

ojAttr y =2 4+ 3x+ 1 & L mF A y = —x+3 9] F

= f i
HEE (x1,31), (x2,52) BH W, yiye O 27

@D 11 ® 13 ® 15 @ 17



5.

13
O



(0, 2)

W, a+b+c o] 22

SH
=

ax®> 4+ bx +c 2t

y:

B 5

@ 3



7. xyzZFASD o, x2 + 32 + 22 + 2x - 6y — 8z + 25 9] H|&=gk2?

D -5 ® -3 3 -1 @ 1 B 3



8.

7o) Zole} Az o] Aol o] 12
o, y o] Zoizke Foim?

@D 36 ® 16 3 12



WO 2HE %&£ 30m 2 @4 29 B9 r 2 9] =0]E im
2kl S b = 30t — 512 Q1 TAIZF AHESh o] AT 7MY E0|
S o] Fol=?

@D 60m ® 55m ® 50m @ 45m ® 40m



2
(2 +x)?2-8(x*+x)+12=0

@ -3 Q -2 ® -1

@ 1




11. oAk y = f(x) o TAe|ms} ofel T3} 28 o, xof chat g4
(fof)(x) =09 BE A0 F27 (T y = f(x) 9] L T= x50

oFe] Wkt A2 the & Hel A whdeh)




12.

O AA X2+ (a+2)x+2a+4=02 F
a® +aB+p* O FR{2?

D -2 ® -1

3 0



U (x-3)° + (-3 = 6 A2 & (v, y) o dfstol 2 o Aazres

® 3+2V2 @ 2+ V3 ® 33
@ 6 ® 6+ 2



14. /K]—;(]-HO}?%]/E] = (7-29)x% + (7-2)x-22 = 09 Al & a,B,y(a
<) dae<sm=<yd Z5 m| H5E FotH?

@D 2370 ® 247} B3 2570 @ 26 7M ® 2770



15. A4« =19 10709 5122 a1, a2, @3, ,a10 012 T W, (ay +
(a2 +1)(as+1) - (a10 + 1) 2] 22?

@D 1 @ -1 O @ —i ® 10



